N2 a"7 'on R0 2"1.7"02

By a metal barrel — non» Sw nsana

OVERVIEW

The X713 asked, why does the 71wn say that the straw and figs (in a container) can
be ¥ only under certain conditions, the barrel itself should be yX11 (regardless of
the MM31731 320 that it contains). The X712 answered that it was a metal container,
and since metal is 8™V 92PN, there is a rule that anything which is axmwv 22pn
cannot be XMWY °192 v¥II. Our Md0IN has some difficulty with this answer.

nvoIN asks:
= 19AN 17729 ANMIV NN NN NXANT DN 1’29 NYPN

The n''9 asked that the metal barrel itself should convey the 82w from the

room where the corpse is to the other adjacent room -
= SMYNAN N0 NNITI 3ANMIVA MAN AN NPNY 259N NINNN NYWYI DAN 1 by4

Since through ®nx nxmw the metal barrel becomes like the corpse, to be

considered an N2 NMaR 2R, as is evident in M®IR NooR -
= SHNNA DYINN RNV 1) HHN M"Y

And so the barrel is also considered as a corpse to be X2u» others through 2778 nx2w -
= 99 290 SN NTYN 29 HY ¥I* YUN (9911 NP NI0N0T

For the entire ?1op of ‘and anything which will touch, on the face of the field,

the corpse killed by the sword, etc.’; this entre verse -
- 790N PIYY (ovr 1 am DITY )N P99 1A 1Y WY

Is expounded in =973 n2on in 3''> P95 regarding YR NRAY.

! The barrel is in the opening between the two rooms (one in which there is the nn) and is exposed to the airspace of
both rooms. The barrel becomes Xnv because it is in the same airspace under the same roof as the nn. We are
assuming that the barrel is not flush with the sides of the opening but rather extends somewhat into both rooms (the
room with the n» and the adjoining room, which we wish to protect from nx»Ww). See fwn nom.
2 The P10 (in T0,0° [NPR] 12722) reads, 297 ®9Aa 77w 210 Y ¥ WK 933; this is expounded (in 2,7 0°1od) to teach us
that the metal 2717 (sword), which killed and came in contact with the corpse, has the same level of nxmW as the 97n
(corpse). This rule (according to '01n) applies even if the metal became X»v (not only by touching the nn, but even)
by being in the same 57X as the Ny, as the case is here by the metal barrel.
3 A nn is the highest (lowest) level of nxmw; it is the ‘grandfather’ of nxmW; anything which touches the n» (a
person) becomes an XMWV 2AX. A N7 is the only 78mW which is 9782 Xnvn (except for a ¥71¥7 in certain cases).
41 mwn 'R poo.
5 This barrel which became an 8”077 M2aX *ax (since it is open to the airspace of the nn), should be able to be xnvA
anything which is in the adjacent room (which has no nn), since the contents of this second room is open and is
under the same 71X (airspace) as the barrel which is like a na. See end of footnote # 1.
6 See footnote # 2.
7 moon maintains that the rule of %913 X7 *37 270 (see footnote # 2) is not only regarding the 7x»w which is
conveyed through touching or carrying (Xwm1 ¥an), but also regarding 71X nXmw that metal can become v and
convey ¥n0 through 2% Nk alone, even if there was no Xwm ya with the nn or with the other objects.
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mooIN question is how can we establish the 71wn that it was a metal barrel, for in that case the
7R will surely be conveyed (through 7% nX»w) to the other n°a!

NIDOIN answers:
= 192530 D %20 %97 1N MU MINNNY 111D 29999 NINT D 13939Y NI

And it appears to the n''s that here it is a case where for instance the dried

figs extend outside the barrel on all its sides
- 8555 NI PRY 21D IMN MU

And they cover the barrel completely that the barrel itself cannot be seen at all —

MooIN justifies this unusual explanation:
= 959 VP NI MINI) VPITN DN 12929 PN

And the n''s inferred that the 71wn is discussing this case (where the barrel was
completely covered with the m73173), since the mwn specified n1mx93 and did not

instead merely mention fruits (were inside the barrel), the reason is -
= 97913 1PN NAND NIN MINYPY 97N 1N MPAITNH DAY *9Y

That since the M7 stick together, so even if they extend outside the barrel,
they do not fall down and can cover the barrel from the outside.

mooIn supports this inference:
= (%17 97 maw) 190%aN P93 P27 NXINN NN )

And we find a similar instance of this type of inference in n>an P9 —

mooin offers an alternate solution to the initial question:
= 1155995 NIN ANYY 12N PRYA 59990 RINT PNYY 13939 9N TV

And furthermore answers the °''1 that here it is a case where the barrel does

not extend outside the adjacent wall of the room where there is no n» -
= 752D NNV NI XY PONN 797 XYY

8 Therefore since the entire barrel is covers with the M7373, it is not exposed to the nni 97X, therefore it does not
become an 8?07 MK "X and it cannot be 2182 &nwn. See ‘Thinking it over’ #1 & 2.
% The fact that the 73wn chose to discuss this case with n17a173 specifically is an indication that the barrel was covered
with the dried (and sticky) figs.
10 The mwn there states that one may take a knife (or sword) and break open a barrel in order to eat the N3
inside. Xy X " limited this ruling to case of N11x173 which are pressed together so a knife is required to break them
apart in order to eat them. Therefore, since one may take the knife to cut the m173173, he may also move the knife to
break open the barrel; otherwise it would be prohibited because the mwn follows the view of a1 " that 01993 PR
12 7T wnwn? KoK, The X3 asked why establish the miwn according to 1", say that the mawn follows the view of
the 1127 that a "> may always be moved even not for 12 a7 wnwn? The R answered that since the mwn
mentioned NM73 that means that the knife is needed to cut the N, vy,
! This answer assumes that the barrel does not protrude into the adjacent room (it may or may not protrude in the
nni n°2). This is different from our previous assumption, see footnote # 1.
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So now no 7821 can be conveyed to the adjacent room via the window opening -
$NOV NMA 1 PN P9NY 13P998D NOVWANN NN NP NYPIA 12ANINY AINDIVY

For a ‘squished’ nx»w bursts upwards but does not extend sideways, since
there is no opening of a now.

SUMMARY

The metal barrel does not convey Xm0 to the adjacent room (even though 77 271
o9mo %01 [even regarding 9nX]), either because it is completely covered by the
sticky dried figs, or because the barrel does not extend into the airspace of the
adjacent room.

THINKING IT OVER

1. mpoIn in the first answer writes that the figs covered the barrel entirely and
therefore it is not XMW Y2pn presumably because it was not exposed to the axmw. 1
This rule that whatever is not exposed to the Xm0 is not I8 %2pn (the rule of
2°no n¥) is only regarding to prevent the items which are 7Y from becoming
Xnv, but there is no such rule regarding the item which it itself is Xnv (like the
barrel), so how can the figs prevent the barrel from being xnvn?!!'

2. moIN in the first answer explained the case of the figs; how will that explain the
case with the straw (which is not sticky)?

3. According to nvon second answer, why did the 7Iw» mention M7A73 and not
mn 216

12 If there is a N1 in a box (together with other objects [which are not touching the n»]); if the box contains airspace
of a nov above the nn, the roof of the box becomes an 77X and everything in the box is Xav, and anything on top of
the box is v (for the 27X prevents the 78w from going out). If however there is no 5w TN, we say that the XMW
of the ni bursts upwards (72391 N¥P132) so anything which is above the nn including anything which is on top of the
box up to the sky and is directly over the n», they are ¥»v, but there is no 78 nxmw for the items which are in the
box (but not touching the nn).
13 The barrel (which became Xnv because it was exposed to the airspace of the n» with a 1w nn9) is under the upper
frame of the window and there is no 1o mMd (since the barrel fills the entire space of this opening), therefore the
R of this barrel shoots straight up going through the top of the window up till the sky, but it does not extend to
the sides. [If the barrel extended into the adjacent room then it would have a n9v nn® above it (presumably the
ceiling is at least higher by a nov over the opening) then it would be nn: 9iR2 Ravn.]
14 See footnote # 8.
15 See mwn nom.
16 See o1 NN and 7o NB.
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